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(34) aREf(x) = { 4, x=
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X 1

-"i.
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(635U 3 2|Q1) (24)
(37) AssiAdl.
A B
i) {1, 2,3, 6} (a) {x:x 2 2AfQoue dvuLsy s Al Anaua 9.}
(ii) {2, 3) (b) {x :x ¥l 10 5l -l 4424 ULslds Hvur 9.}

(i) {M. A, TH.EI,C.S} (c) {x:x¥uuldsAvared 2l 6 A 9.}
(iv){1, 3,5, 7, 9} (d) {x:x » MATHEMATICS 26&-il }ou& .}
(38) U = {1,2,3,4,5,6,7,8,9} ,A={2,4,6, 8} »
B={2 35 7}dl (i) (AUBY =AnB" %
(ii) ANB)y =A"UB’
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(41) % (x + iy)® = u + iv Sl dl Scuid] 3 ;{1 | ; = 4(x* - y?)

(42) Brstal allell A ousyell cons Al il el oyl d@onsS s2di a2 2l 9. 4
HaruHl Alw ouy Alell 412l ougpell 2 A Al . Brsiadl R siloni il 61
AL ey dl el vl oy ll wyetetny consS giisil

(43) n (L [Bud il
(1) *C,:°Cy = 12:1
s iNE =11 1
(44) 52 Yrimitll 5 Urtiell waE2(14i QA 315 LA »Ud A Soetl sl 4581 571 sty 7

(45) (il (0, 0) |, (5, 2) it YR udi y-218 Ued Ul el dal yadud
S EIETERYCET

(46) 2a1de ulSl 2 e 243 Q22 AEL AL UEM 10 STIENSE

(47) 15 1ie11 60 Renginidl NCC 4 30, NSS A 32 »i+ 6id 24 [aeydlA12 Y4
sul €9, o 1 oreniell 2s [Rensl 4ie@os 2 aie sxami ML, dl 2ANE Y2l
T ICIEETRTETS
(1) [QeuaTl NCC anua NSS A waie sul 6
(2) [Qeuli NCC »ual NSS Hidl 215un ue suf 2l
(3) [QeusA NSS A waie 5§ 8. uig NCC A uaie 5 -iell.

(48) A 11 B A g2l 21al U s+l 6 % P(A) = 0.54 , P(B) = 0.69 »i- P(A N B)
= 0.35 dl (i) P(A U B) (ii) P(B' 1 A’) (iii) P(A N B') (iv) P(BN A’) Hl.

[Qeua : D
® lad 2uudal us suis 49 4l 54 1iEl siSULL 4 Wa-iAL 4312 et quil,

(5251 4 2@1) (16)
(49) B 53U % cosbx = 32c08°X — 48c0os*x + 18c0sX — 1
(50) = 3—4 ;X € 2% AU disin X/2 , cos X/2 , tan X/ )l [Eudl 2dlsl

(51) Amdeli ARl 2iedid Yel-l 2101l WAl

-3y 36, Slea, .........
(52) 0.6+ 0.66 +0.666 A2l UaH UEIl 02U AEL.

(53) Al Madlsirtin Heus dul (A28 255 8 2 16 9. % sunigd] Wi »ad] s
4.10, 12, 14 <y dl oSl ol stadisl Aial.

(54) Iy madisidl 4eus e UHIBA QYA AA5H 10 2 269 Yl WA 52l Mgy
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ANNUAL EXAM - 2025
177  Morning STD : 11 : (SCIENCE)
DATE : 07/04/2025 SUB : BIOLOGY (056) TIME : 3 HOURS
MARKS : 80
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ML UAYAML A 412 [AMPLA. B, C oA DY

YAl : (1
2) [Pl B, C A D |l o2 [Q56Y a4ai™i »dd 49
3

)
)
) (el 32 o0 cul w269 A1y [45[ad 2igla (4l-aa)4) ozl
4) AAdl (Ao Al i Y24l quaii 269

)

(
(
(
(5) eleler [qenall %1 amugla /2408 smiEa uaumi sy a5y g de 5.
[aeua @ A

@ ° emsuis 1A 16 sasiAs usiu sl 9. auidl dioa [Asew wais s2al. %S un
suis 17 4l 241 WU 4o Gz aul, (53541 1 991 (16)
iUl 1 4l 16 MCQ L 1{ysl i amal.

(1) Ast 9yl sl ataufadl aof sy ¢y 7

(A) A3+ (B) a1 5241 (C) 423 (D) [gevll
(2) Solamum tuberosum L AL A 5Y 89 7
(A) 42 (B) o2 (C) sl (D) s2iet

(3) sy HUAIUAL GeleRl YL,
(A) 2191354 (B) wlznuy (C) 2A34394y (D) a1sSsLsml
(4) adxual wol Qe s419 ?

(A) sisidRs (B) A1t (C) a3y (D) 254 ]
(5) o520l dini oiAdi iy 7
(A) deil (B)gaale-ldl  (C) ednflusivl (D) wgndly 54

(6) wtea, wia, (MRaL A Ml 362 %74 AB 9. dl 1A 59 3%y w3 ad)
(5 342 Uyl austal 7

(A) A4 O (B) B 244 O
| (C)AB, A, B 14 O (D) O A 2
[ (7) PPLO «{ys-p.....
: (A) w2l iR @iy 29" (B) Wl @iss siofi sy
(C) Rl il auss »{19(+y (D) iz Rl @155 »(i3Twq
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(8) uufAc%M ¥ 22YAL - chromosomes apf] AU 89 7
(B) o119 19241

(A) yalazal
(D) 2ica1a241

(C) oq1%irLa2Al
(9) sl 3[R e 5ol (RBC) Mi 59 U 414 69 7
(B) M AU (C) A 2144 B o (1)) 2A4144"L

(A) M2 % UA
(10) dldl a-txula «rup(ai Yo P ALY s gl
(A) FeeiSle 21 52UEA (B) #4181 21 s4iziéld-a
(C) s4i28ld-b 2 52l (D) 54i718d-a A 54128ld-b
(11) a-aufal qle Hual He AUjd Hiree] Ay 549 ?
(A) ¥s5iHeR (B) uiei(4e: (C) gidilez (D) i 5A-1 422 ®

(12) Peady A sdl MRl 53 69 7

(A) dldlasl (B) anen [y (C) ¢4y (D) 51914
(13) dgrad aflaiie cland-{ dledl e dly us aeiell oy & ?

(A) sidRRld (25l (B) »2(0d 21y 511

(C) »id > [f29% (D) 2A4E A1
(14) i ¥t Urine <l 2H1~4 PH %24l sy 69 ?

(A) 6 (B)6.5 (C) 7 (D) 7.5
(15) Hualur AlM Y9 7

(A) 2 Aaulastzs 2 (B) A2 1q2dalre A2 g4 59

(C) $s163n1y Al el (D) 2484 M
(16) 45 Acdigl e s Broiddysd Adisiy AR 1ol a9 7

(A) &eurt [Baraumi (B) 283 [Bauami

(C) 2AivirL AAYeEHI (D) 214 oiet 1

(17) sasyn uziadl a4 dausa atadl ad2uld-i A gl
(18) @33y wefla-iud 2d 9 7 Gelsel »dl.
(19) “dlwnilAgt 24 A dAlrigl Hi 2450 frog Al Gl MU 539 7
(20) s1quU% Hed 9 7
(21) wolri S saodie seolls2a ... Yalddl s3 asiy .
(22) irta 5964i L2 mEUML SU 9 7
(23) 2551 Frsiza i e ozl w0l
(24) usdsivil v deyef sivi Gz sl s2dl Mel: AL AIH Qv
[Aeuo : B
*  lldwden um suis 25 4l 36 il SiSue 8 usii G5HL FAUL vl

(625 AL 2 2w1) (16)
(25) mpdivtt 523 B By fyag quil
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(48) i3 228 WA

(1) sepie] g6 sui dLe{aduidl Byt Yl 89 7

(9) [iea aiea M [Ge ciead i @vil.

F

(3) aey s BlHeui sedl AR aolse9 7
[qeua ¢ D
o {13 wiia ug suis 49 A 54 Hidl sS4 WaAi [A2qa U AWML,
(525 Ul 4 21)
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STD : 11 : ENGLISH (SCI. & COMM.}
DATE : 12/04/2025 TIME : 3 HOURS

-
L1 SAPS - Total Page © ] o>ig 2 11

11.

“ANNUAL EXAM - 2025

MARKS : 80

SECTION : A
write whether the sentences are True or False : (3)
Tree ring dating is another useful technique.
Drip irrigation is the best solution to manage scarcity ol water.
Our sense of sight has weakned our sense of smell.

Find and write the nearest meanings : (3)

Ditch : canal — pit — pond - river

Spoil : select - make dirty — improve - give

Wrestle : fight - rush - race — skip

Select the most appropriate language functions from the brackets and
write them against the given sentences : (3)
(Showing purposc. Giving suggestion. Showing condition in past.
Expressing choice)

| prefer using a keyboard to writing with a pen.

Mehul could have won that match if he had done some more effort

Attend all the classes regularly in order that you can cover all topics

Select the most appropriate response: (3)

Het - where did Gandhiji stay in Ahmedabad?

Hetvi : ~ ( Habitual past)

(A) Gandhiji had the habit of staying in the Sabarmati Ashram.
(B) Gandhiji staved in the Sabarmati Ashram.

(C) Gandhiji used to stay in the Sabarmati Ashram.

(D) Gandhiji was used to stay in the Sabarmati Ashram.
Sumitra : Let's go to Himalaya Mall.

Renuka : ( Expressing Result )

(A) Iam very much tired. Please, forgive me.

(B) I am so tired that I can not accompany you.
(C) A tired person lie me can not accomparny you.
(D) (A) and (B)

Mr. Shah : Why didn't you come in time?

Peon : (condition in past )

(A) T had not got bus in time.

(B) There was a heavy traffic so I didn't come in time.
(C) I have no scooter or bike that is why I was late.
(D) Had I got up early. I would have come in time

- ENGLISH (SCL COMM |
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* Select the most appropriate question to get the underlined word /
phrase as answer :

13. Owing to her brilliant result, she will be selected in the company:
(A) What will be her result?
(B) How will she be selected in the company?
(C) Why will she be selected in the company?
(D) Who will be selected in the company?

14. The forests help us to keep the temperature down.
(A) How does the forests help us ?

(3)

(B) How the forest help us ?
(C) How do the forests help us?
(D) (B) and (C)
15. Parth filled ten litres of Petrol to go to Ahmedabad.
(A) How much liters of petrol Parth filled to go to Ahmedabad?
(B) How much petrol Parth filled to go to Ahmedabad?
(C) How much petrol did Parth fill to go to Ahmedabad?
(D) How much petrol did Parth filled go to Ahmedabad?
Section - B
« Read the extracts and answer the questions : (10)

The mechanism by which a particular smell activates a certain
receptor. that is why one chemical smells thus and another smells so
is yet unknown. Recently, There have been suggestions that chemicals
smelled as they did because of the overall shape of their molecules
or because they punctured the membrance of the smell receptors
or because the parts of the same manner of puncturing or the same
fashion of vibrating would all smell the same. However, all such the-
ories are vet only at the stage of conjecture.

16. What mechanism about smell is yet unknown?

17. What words in the passage mean :

(A) assumption (B) a thin layer of tissue

Surya namaskar is an ancient form of Yog. This form of Yog is
a complete meditative technique. It includes asanas and pranayam.
It is a combination of 12 different postures, followed in a particular
sequence with its specific breathing pattern. It helps an individual to
vitalize and unblocks the whole system.it reduces fat from almost all
parts of the body as it stretches and tones each and every muscle.

18. Which is a complete meditative technique?
19. Which are the benefits of Surya namskar?

Mary kom is a leading woman boxer of India. She is one of the
Pioneers of Women's boxing in India. As a Sports person She has

achieved a huge success. Mangte chungneijang Mary kom was born

SAPS - Total Page 6 2 Std : 11 - ENGLISH (SC1/COMM )
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on 1st Mar ch 1983 in a small village of Kangathei in the northeastern
state of Manipur. As a chilq, Mary, along with her two young sisters and
a brother, worked in paddy fields, did household works and went to
school. She Was not very good at studies, but she could also throw a
javelin to a considerable long distance. And above all she could punch
hard.

where and when was Mary kom born?

At what was she good at inspite of her poor academic performance?

The rainfed tanks are a cheering sight when they are full. These
tanks play a vital role in South Indian agriculture. In Mysore, for
example, much of the rice is grown under them. Some of these tanks
are surprisingly large and it is a beautiful sight to see the sun rise or
set over them. Water in a landscape may be compared to the eyes in a
human face. It reflects the mood of hour, being bright and gay when the
Sun shines, turning to dark and gloomy when the sky is overcast.

What is very important in South Indian agriculture?

what moods does water in landscape reflect when Sun shines?

As the methods of autofab advance, the form of raw materials
will be unimportant. Sophisticated autofab machines will be capable
of rearranging molecular structures to generate any object from
them, plastic milk jugs and last nights punctured car tube would be

molecularly rearranged to get a new table lamp.

Highly improved autofab technology will perhaps be able to meet
all our material desires. The freedom resulting from this achievement
will bring about a golden age of art. music and scientific discovery.

But the open question is whether people want such freedom and will
rejoice in it. In life it is often found that the greatest satisfaction comes

not from getting what one wants, but from working for it. The greatest
challenge facing humanity as we proceed into the age of automated

fabrications is to find a meaningful use for themselves.

How can we generate any object from raw materials?

Where does the greatest satisfaction come from?

Fill in the blanks wi

[ shooting, several, proud )
India’s shooting sensation. She has made the nation

Lajja Goswami is i
i 4 - nation

..... (26)..... wiith her superlative performances in .....

and international competitions. Her talent in .....(28)..... focused when

she got enrolled to the NCC as @ cadet
Section - C

under a neem tree, were playing throwing dust at one another. Amrit

th the appropriate words given in the brackets: (3)

Std : 11 - ENGLISH (SCI/COMM.)

““’j AnyScanner

(¥ scanned with OKEN S



29.
30.
31.
32.

33.

SAPS - Total Page 6 4

and isab came walking arm - in - arm and joined them. Both were€
wearing new clothes stitched that very day, identical in every respect :
colour, size, and material. The boys were in the same class, at the same
school and lived in houses facing each other at the corner of the street.
The boys parents were farmers owing about the same size of holdings
and occasionally had to borrow money from the moneylender to tide
over difficult times. In short, the two boys had everything in common
except that Amrit had both parents living and three brothers, whereas

Isab had only his father.

The two boys came and sat on the pavement seeing them
identically dressed, one boy had a mischievous idea. “why don’t you
have a wrestling match? We can see whether you are also equal in
strength or whether one is tougher than the other™, he said. The first
boy thought that to be a good idea and added, “yes, Amrit, Isab, let's
see which of you can get the better of the other. Come on! Shouted the
boy. It's only for fun.

Questions :

Where were the group of village boys? What were they doing?
How was Amrit and Isab'’s dress identical?
What things were common between both the boys?

What was not common between both the boys?

Read the following passage and write its summary. Suggest a suitable
title to it: (4)
Advertisements are very much a part of our commercial world.

Business has to sell their wares. So they make use of adds to this effect.
Advertisements bring the shop window to your door, induce you to visit
the shop and to see through and feel the products which help to make
your own life a little more cheerful in a developing country like India.
Cleverly done up adds can help to shake people out of their inertia. For
example, they can induce the farmer to take to more modern methods

of agriculture and improve the general standard of life.

Read the news clipping and answer the questions, (4)

Ashwin's magnificent spin bowling got India a win with a day to
spare in the third and final Test match in Indore. What made it special
was the fact that there was no extra-ordinary turn from the pitch. The

variety in his deliveries and angles and speeds and spin imparted to
the ball spun the kiwis to their doom.

That there was nothing untoward in the pitch could be seen by the
manner in which Cheteshwar Pujara and Gautam Gambhir battled on
the fourth morning. The kiwi collapse was brought on by spin Shane
Warne for not getting heaps of wickets on Indian Pitches or Rickey
Pointing batting ability for getting only one Century in several tours

[O)
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34,

35.

36.
= i 8

38.
39.
40.

43.

44.

45.

of India? So why question Ashwin's wickets and his place among the
greats of the game? Problem with these Indians is that they don't like

to see India winning for then there won't be anything to criticize the

Indian team for

Questions :
What achievement did Ashwin work out in the third and final test match

in Indore?
What made the achievement special?
Which other cricketers are mentioned in his news piece?
Why, according to Gavaskar, do people question Ashwin's wickets and
his place among the greats of cricket?
Read the stanza and answer the questions:

Well, ego might be pleased enough

But zealous athletes play rough

They do not ever in their dealings

Consider one another’s feelings

I'm glad that when my struggle begins

Twixt prudence and ego prudence wins.
Questions :
Why does the poet say that some athletes play very rough?
When is the poet glad? why?
Find and write nearest meanings for
(a) Enthusiastic (b) between
write two pairs of rhyming words

Section - D

Do as directed.

Nency is knitting woolen sweater for her husband. She is putting all
her love while knitting it. She is making many things for her children

also.
Start like This : Nency was Knitting

----------------------------

He was reading a novel then. His father called him. He kept the novel in
his bag. He looked at his father.

Start like This : Anovel was beingread ........................ .
Render the following dialogue in to Indirect Speech:
Yash : May I take your book from here?
Mona : Yes, But why are you taking it ?
Yash : I need it to find out some points.
Complete the Sentences choosing correct option :

Very few students are __ ( comparing )
(A) So taller as Navin

(C) As attentive as Rahul.

(B) Cleverer than Jitu
(D) More happy as Pankaj
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46. However - __he could not reach in time, ( showing contrast)

(A) Fast he ran (B) He ran fast
(C) Fast as he ran (D) He ran fast but
47. Ram and Shyam are Kkind ( alternative choice )

(A) Both will help us.

(B) Neither Ram or Shyam will help us
(C) Either Ram or Shyam wil] help us.

(D) Either Ram nor Shyam will help us.

« Combine the following Sentences to make a meaningful sentence. (3)

48. The Shepherd could not read and write. He had never been to school. He had = =
.

v,

never learnt to read and write.
« Complete the passage choosing the correct option from the brackets :

(49 to 51) (3)
Sachin is a cricketer ....(49).... (who, whom, which) has broken all the
records. He ....(49).... (knows, known, 1S known) as ' the little master .

He is a role model for many youngsters. My younger brother bats as if
he ....(49).... (is, was, were) Sachin Tendulkar.
Section - E
+  Study the following diagram and write about 80 words based on it: (4)

Ideal
Citizenship
E
Virtues Obligations
Importance 3
of Study
of Civics
t against Broad
nglroblm Outlook
Ordering
Loyaltles
«  Write a paragraph in about 150 words using the key words: (6)

53. A sports person you admire : [points : his/her childhood - parents
— education - struggle — first success - contribution in sports -
achievements — awards - contribution to nation|

OR

The importance of English Language : [points : Many languages -

English an international language - language of knowledge — spoken all
over the world - India uses it Everywhere|

OR

The ill effect of watching mobile too much . |points - weakening

of eyesight - becoming lazy - less social tommunication - Jggg of
Imagination — no time for reading - addiction to mobile) 3¢
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i school assembly hall you are going to deliver speech on ‘Save Water

54 h using th
praft a Speec £ the given points in about words. (5)

(points : wastage of water - shortage of rain - less water resources
_ recharging of wells - construction of check dams - drip Irrigation -
growing more and more trees]

OR

pooja S Prajapati from 4, post office Block, Mota Bazar, Vallabh
vidhyanagar Dist — Anand applies for the post of a Chemistry Teacher
in Higher Secondary School, Scince stream, Nadiad DIST - Kheda.
Draft this application on behalf of her.

55. Subbodhbhai K Vyas from 3 Navyug Society Limbdi - 363421, writes an
email to the editor of Indian Express making an appeal to the authorities
to stop the nuisance of loud speakers at night. (5)

OR
Write a report on the prize distribution Function of a school.

[Points : when was it held? - Preparation - Guests - Principal’s Speech
- Distribution of prizes - Your Contribution — Sweets were distributed]
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